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1EA R BX Bloom PJT Bl®E| 5 [100 13.55%] G
2ithE B Bloom PJT Bl%&| 5 (100 1381%| G
36| ILAX K& Bloom PJT Bk 5 [LJ 461%| G [100:13.96S
52 2@ 1HH cheese | Bk 6 |HJ 127%] S
AT &S EiferAC BBkl 6 [HJ 141%| G [LJ:4.81G
13ER #0 EVO-TC Z|&| 5 |1000 3.1883%| G
R2(EE =M KJM. RC B[E| 5 [1000 3.15.82%| G
16|l #iTh KJM. RC Z|E| 5 |1000 32193%| G
7B FHE RUN. jp Bl 5 [100 13.99%| S
418 BAR RUN. jp E|%| 6 [100 12.96%| S
44| KFT RFE RUN. jp Bl%E| 6 [100 1311%| B |2E/ eErssERIL—fF
TS RUN. jp #|%] 5 [100 13.14%| G
2lHE LA4Fz)L |RUN.jp %] 5 [100 13.33%| G
HIEEES RUN. jp #|%] 5 [100 1442%| S
26 KB & RUN. jp Z|FE|] 5 [80H 13.72%] G
29ithtl {2 A RUN. jp 4| 6 [100 1378%] B
57|IEF BEE RUN. jp || 6 |UBT 46.94x] G
67|iR IEZE RUNRUN-CLUB BIE[| 6 [1000 3.07.37%| S
59| HH [E SPC RC BE|&| 6 [1000 303.11%| G
0|EE HLEH SPC RC Z|E| 6 |1000 3.13.02%| G
IR Y MNI-TEF Bk 6 [HJ 127%| S
NELEEERS MF-ZFEF BIE| 5 |600 153.30%| S
8iBEA #i EHBERTSC Bl®E| 5 [100 1401%| S
60| 800 #x4&E BEED BIE[| 6 [1000 3.0324% G [600:1.45.39S
651% &Hig BEER B|E| 6 [1000 3.06.48% G
23|78 HF4E LocldeEEHSD BIE| 5 [600 155.74%| S
343K FiK LoCEeEESS5T BBk 5 |HJ 121%| G
KA EFRA LocldeEEHSD Bl®E| 6 [100 1250%| G
10|8% ¥1E LoClEeEESST Z|&| 5 |600 156.78%| S
36| kAR WE LolldeEES5D Z|&E| 6 (600 151.33%] S
RET-EE SN ThE¥yXAC B4 5 [100 1387%| S
41UA £ FTh¥FvXAC %] 5 [100 13.88%| S
21|13 B ThE¥vXAC BIK| 5 [600 15401*%| S
37|H EF ThHExyvXAC BBkl 5 |LJ 411%| B |erkes ik oFsibn
40 IUAX BEA ThE¥vXAC Bl 6 [100 12.82%| G
68|82 BEX FTh¥FvXAC B 6 [80H 1250%] G
5|HO BE TR EZER B4 5 [100 13.88%| S
28|18 W1t TR EFRR /%] 6 [100 1353%] S
48BH BETE EFH %] 5 [100 14.18%| G
9fz@ —# NoE—= BIE| 5 |600 150.16%| G
17/hfE B NoE—= BI&| 5 |600 15207%| S
18| B ImtE NVE—Z= B|IE| 5 |600 152.60%| S
22| iR & NoE—= BIE&| 5 |600 15477%| S
2580 EA NE—Z= E|E| 5 [1000 3.05.72%| G |600m:1.46.95G
30| 5@ #ki5 NoE—= B|&| 5 [1000 3.1387%x| G |600m:1.49.89G
31558 #h INE—= E|E| 5 [1000 3.1528%| G |600m:1.49.63G
75| 8AR A NE—= Bl|#| 6 |[JBT 4137 B |[EBEXEIVH2I
12| HF] XS NoE—= #Z|E| 5 [1000 3.15.94%x| G |600:1.50.37G
31| HE BRE NVE—= Z|E| 6 (600 1.43.14%| G
39|#EIL EEF NE—= Z#|E| 6 [1000 30647« G |600:1.44.66G
42;BE 3FLL NE—= Z|E| 6 [1000 317.71%] S [600:1.49.71S
10/Ad HIf 74 Ml B|IE| 5 |600 1.50.60%| G
14| Fik #8F F7AR# B K| 5 [600 15148+ G
2488 BX 74 BIE| 5 |600 15581%| S
28wk ME 274K B|E| 5 [1000 3.12.46%| G
46|10 B 74 BIE| 6 |600 142.02%| G [1000:3.09.31S
56 IZE RE 274K B|IE| 6 [1000 258.86x] G |600:1.42.90G
57|55 H X¥H# 7 AMI#E HIEK| 6 [1000 3.01.12¢| G [600:1.40.66G
64 Kl Bt 274l B|IE| 6 [1000 3.0593% G
33| KIE BRE T74AR1# Z|E| 6 [600 1.47.42%] G
3B |EA EBF 74 Z|E| 6 (600 1.4823%| S
24| i NRER Z|&| 5 [1000 32861%| S [600:1.54.13S
15K+ @B NRER B[E| 5 |600 151.84%| G
6|@YFH TEE FES. C #Z|%&| 5 [100 1431%] S
61 F8 HE fIIWRC BI&| 6 [1000 30413 G
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19 RF & MBS ZTFEESST [B|E| 5 [600 153.13%] S
27| B K5 MEDZ7EEHST |[BIE| 5 [1000 3.1244x] G
45| fRIX HRfE MBS =F7ELHST B K| 6 600 14201%| G
47| K8 FIE MBEA=TFELIST B K| 6 |600 1.4337%] S
66| F&f 25 MES2=F7ELHSZT |B|K| 6 [1000 3.07.21%| G
74 FF 5KiE B =FELHST B[] 6 |JBT 5587 S
0|58 BE MMESA=F7ELHZT | &[5 6 [100 1391%] B
MEE B EHAC Z|E| 6 [600 1.47.46%] G
2113/ K FES-C Z|E| 5 [1000 3.26.49%| S
53w+ &3t EATELHE BIE| 6 [600 146.89%| S
23R ERF EEATELEE Z| K| 5 [1000 3.2758%| S
41\ 12 EEATELEE Z|E| 6 [1000 3.1659%] G |600:1.47.71G
44 B HE G EAThELSHE Z|&| 6 [1000 3.18.29%| S
42185 K 1EFT WETHER1=7 HlE| 6 |100 13.04%| S
43| 85K ERAF EHEBTSC Bl®E| 6 [100 13.05%| S
70/l FE EHETSC BBkl 6 |[HJ 145%] G
48 |BRIF HF1E %EI“BTSC Z|FE|] 6 [80H 13.07%| G
32|BAR EM TR EF Z|E| 6 [600 1.4499%] G
37|t XZE PR EZER Z || 6 [600 151,65 S
478K EZm FTiREFHR Z|[E| 6 |80H 12.96%| G
50| EA EHN TR EFER Z| Bk 6 |HJ 1.37%| G
11255k wmA TR A=TELSST B K| 5 (600 15067 G
35 HERA I RO Z=7ELESST BBk 5 [HJ 1.21%] G
38R EiK TECAZTELEIST (BB 5 |LJ 409%| B |FrLiThvT (5EE26L)
50 KKk RO Z=7BELESST (B E| 6 600 14443%] S
54| FEEE BA EEC2=TFRELESST B E| 6 [1000 257.40%| G [600:1.37.75G
72 7l =X RO Z=7EELESST BBk 6 [HJ 1.36%] S
73| LU FEAXER TR =TELEIST BB 6 |LJ 472 B [ BEXEIV D24
9|FEEY =il EBO2=7EELEHSST (& E| 5 [600 156.67%| S
46 =F B TEC2Z7BEESHST [ Z|E| 6 [1000 3.20.38%| S |600:1.49.11S
51| FEFH FEhk LR Z7BEELEDST LBk 6 [HJ 1.30%| G
54|k B LTED2A=TELIST LBk 6 |LJ 471%| G
55| AR EEF LR Z7BEELEDST (KB 6 [LJ 470%| G
56| fER %5 LTED2=TELIST LBk 6 |LJ 438%] S [HJ:1.27S
26| KA iEth W57 B|E| 5 [1000 3.08.10%| G
48|17k &8 W57 BIE| 6 |600 1.4404%] S
5118F & W57 B|IE| 6 |600 14551%| S
FAGEEIR W57 BIE| 6 |600 1.46.12%] S
58| FHTH FEAEA W57 B|E| 6 [1000 3.01.62x| G [600:1.37.03G
3IFH 1 HETHIER Z /%] 5 [100 1409%| G
5/ 9HF £12 FEETRE %] 5 [100 14.28%| G
11 fREiES HFEETER Z| K| 5 [1000 3.1486%| G
13| KE &E JNIBRC B[E| 5 |600 15105%] G [1000:3.19.19S
2953 #Ei% JIIERC B|IE| 5 [1000 3.12.64%| G
33| LM EH JIEBRC BIE| 5 [1000 3.19.60%| S
62|51l X JIERC E|E| 6 [1000 3.0567¢| G [600:1.42.17G
148 81 JIERC “Z|E| 5 [1000 3.21.32x| G [600:1.52.87G
17483 £F0 JIERC Z|E&| 5 [1000 3.2243x| G [600:1.50.79G
18| KE & JIERC Z|E| 5 [1000 32381 G
20 R FhE JIERC #Z|E&| 5 [1000 3.25.12%| G |600:1.54.45S
63 F1H 48 EmPa=-7ELEHSST [B|EK| 6 [1000 3.0579%| G
69| H R EMoa=—7ELEH)ST BE[FE| 6 |80H 12.76%| G
19| KA&%k oKL BEMLpEEL Z|&| 5 [1000 3.2425%| G
21| R8B FK BEMLpEEL #Z|#%| 5 |UBT 38.94%| S
558K BRE fRlRkEE B K| 6 [1000 25766%| G |600:1.38.19G
8IRA il fRlEkEEE Z | K| 5 [600 155.25%] S
2K EE ERfEL % |E| 5 [1000 3.27.01x| S [600:1.55.09S
38|1kE BE f2RELE #Z|E| 6 [1000 3.05.30%x| G [600:1.44.43G
43| BH T EEREEL Z|E| 6 [1000 31817 S
NES .3 REEE E|4%E| 5 [100 13.96*%| S
12/f8H X RE%EE BIE| 5 |600 150.71%| G [1000:3.17.41S
16| f&H 18 REEE BIE| 5 |600 151.90%| G
49| B1F B0 AR BIE| 6 |600 144.38%| S
1548 Ui REEE #Z|E| 5 [1000 3.21.75%| G [600:1.47.59G
25|[R8 KIB REEE Z|E| 5 [1000 32898« S [600:1.56.65S
45| R BE ERTERS1ZT Z|E| 6 [1000 3.18.74%| S
9 F+E R SEHTERI=T Z | 6 [80H 13.31%| S




